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Scenario:
Katie and Clarissa want to meet at a restaurant that is equidistant from each of their houses and such that the total if distances that they each travel is not more than 8 miles. Their city is arranged like a grid, and they can either drive or walk along the streets, but they cannot cut diagonally across a block. One block is 1 mile.  Clarissa’s house is 4 miles east and 2 miles north of Katie’s house.


Task:
Draw a map showing where they could look for a restaurant.


It may be helpful to locate Katie’s house at (0,0).
